C11 - 3.3 - Foil HW
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Perfect square:y = (x — p)?

C11 - 3.3 - Completing the Square/Perfect Square HW

What value of "c" makes the following a perfect square, factor and write as a perfect square

and the vertex: (x, y) and sketch a graph.

y=x*+6x+c

Complete the square and write the vertex: (x, y) and sketch a graph.

y=x2+6x+5

y=2x>-8x+9

y=x*—-8x+c y=x2—-4x-5

y=x2+4x+1 y=x2+8x
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y=-2x?>-12x —15

y =2x?—6x+17



C11 - 3.3 - Completing the Square/Perfect Square HW  Perfectsquare:y = (x — p)?

What value of "c" makes the following a perfect square, factor and write as a perfect square.

_ 2,1 _ 2 2 +
y=Xx +Ex+c y=x 3x c
Complete the square and write the vertex: (x, y).
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y=-2x"—5x —15 y = 2x? —.05x
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